This report contains the transfers results.

Contest Name

Ward 11 - Helensburgh and Lomond South

Valid Votes
Positions to be Filled
Quota

2,949 3 738

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Mike CROWE	Independent	248
Jacqueline DAVIS	Scottish Liberal Democrats	239
Christopher FAGAN	Scottish Labour Party	250
David KINNIBURGH	Scottish Conservative and Unionist	1,149
Ian MACQUIRE	Independent	94
Ellen MORTON	Scottish Liberal Democrats	412
Jack William STREETER	UK Independence Party (UKIP)	32
Richard TRAIL	Scottish National Party (SNP)	525
	Total	2,949

Candidate David KINNIBURGH Elected with 1,149 votes, being in excess of the quota of 738

This report contains the transfers results.

Stage 2 - Surplus of David KINNIBURGH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	171	0.35770	61.16670
Transfer to Jacqueline DAVIS	168	0.35770	60.09360
Transfer to Christopher FAGAN	104	0.35770	37.20080
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	72	0.35770	25.75440
Transfer to Ellen MORTON	306	0.35770	109.45620
Transfer to Jack William STREETER	70	0.35770	25.03900
Transfer to Richard TRAIL	9	0.35770	3.21930
Value of non-transferable ballot papers			89.07000
	Total		411.00000

This report contains the transfers results.

Stage 3 - Exclusion of Jack William STREETER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	17	0.35770	6.08090
Transfer to Mike CROWE	6	1.00000	6.00000
Transfer to Jacqueline DAVIS	9	0.35770	3.21930
Transfer to Jacqueline DAVIS	2	1.00000	2.00000
Transfer to Christopher FAGAN	4	0.35770	1.43080
Transfer to Christopher FAGAN	3	1.00000	3.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	12	0.35770	4.29240
Transfer to Ian MACQUIRE	5	1.00000	5.00000
Transfer to Ellen MORTON	7	0.35770	2.50390
Transfer to Ellen MORTON	3	1.00000	3.00000
Transfer to Richard TRAIL	1	0.35770	0.35770
Transfer to Richard TRAIL	1	1.00000	1.00000
Value of non-transferable ballot papers			19.15400
	Total		57.03900

This report contains the transfers results.

Stage 4 - Exclusion of Ian MACQUIRE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	38	0.35770	13.59260
Transfer to Mike CROWE	43	1.00000	43.00000
Transfer to Jacqueline DAVIS	7	0.35770	2.50390
Transfer to Jacqueline DAVIS	16	1.00000	16.00000
Transfer to Christopher FAGAN	5	0.35770	1.78850
Transfer to Christopher FAGAN	12	1.00000	12.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ellen MORTON	10	0.35770	3.57700
Transfer to Ellen MORTON	10	1.00000	10.00000
Transfer to Jack William STREETER	0	0.00000	0.00000
Transfer to Richard TRAIL	3	0.35770	1.07310
Transfer to Richard TRAIL	4	1.00000	4.00000
Value of non-transferable ballot papers			21.51170
	Total		129.04680

This report contains the transfers results.

Stage 5 - Exclusion of Christopher FAGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	18	0.35770	6.43860
Transfer to Mike CROWE	50	1.00000	50.00000
Transfer to Jacqueline DAVIS	31	0.35770	11.08870
Transfer to Jacqueline DAVIS	61	1.00000	61.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	0	0.00000	0.00000
Transfer to Ellen MORTON	25	0.35770	8.94250
Transfer to Ellen MORTON	66	1.00000	66.00000
Transfer to Jack William STREETER	0	0.00000	0.00000
Transfer to Richard TRAIL	1	0.35770	0.35770
Transfer to Richard TRAIL	28	1.00000	28.00000
Value of non-transferable ballot papers			73.59260
	Total		305.42010

This report contains the transfers results.

Stage 6 - Exclusion of Jacqueline DAVIS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	27	0.35770	9.65790
Transfer to Mike CROWE	40	1.00000	40.00000
Transfer to Christopher FAGAN	0	0.00000	0.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	0	0.00000	0.00000
Transfer to Ellen MORTON	111	0.35770	39.70470
Transfer to Ellen MORTON	192	1.00000	192.00000
Transfer to Jack William STREETER	0	0.00000	0.00000
Transfer to Richard TRAIL	1	0.35770	0.35770
Transfer to Richard TRAIL	20	1.00000	20.00000
Value of non-transferable ballot papers			93.18520
	Total		394.90550

This report contains the transfers results.

Stage 7 - Surplus of Ellen MORTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mike CROWE	115	0.04610	5.30150
Transfer to Mike CROWE	157	0.12887	20.23259
Transfer to Jacqueline DAVIS	0	0.00000	0.00000
Transfer to Christopher FAGAN	0	0.00000	0.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	0	0.00000	0.00000
Transfer to Ellen MORTON	0	0.00000	0.00000
Transfer to Jack William STREETER	0	0.00000	0.00000
Transfer to Richard TRAIL	5	0.04610	0.23050
Transfer to Richard TRAIL	82	0.12887	10.56734
Value of non-transferable ballot papers			72.85237
	Total		109.18430

This report contains the transfers results.

Stage 8 - Exclusion of Mike CROWE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline DAVIS	0	0.00000	0.00000
Transfer to Christopher FAGAN	0	0.00000	0.00000
Transfer to David KINNIBURGH	0	0.00000	0.00000
Transfer to Ian MACQUIRE	0	0.00000	0.00000
Transfer to Ellen MORTON	0	0.00000	0.00000
Transfer to Jack William STREETER	0	0.00000	0.00000
Transfer to Richard TRAIL	46	0.04610	2.12060
Transfer to Richard TRAIL	51	0.12887	6.57237
Transfer to Richard TRAIL	36	0.35770	12.87720
Transfer to Richard TRAIL	115	1.00000	115.00000
Value of non-transferable ballot papers			372.90062
	Total		509.47079